
Addition de Coeurs Doux (E)
Quelle est la valeur de chaque doux coeur?

14 + & = 100 - + 30 = 85

43 + ^ = 104 ? + 48 = 94

46 + ( = 109 ~ + 17 = 113

43 + ) = 80 , + 44 = 135

56 + # = 99 . + 74 = 135

13 + * = 101 / + 19 = 65

44 + + = 116 > + 82 = 137

23 + $ = 110 ` + 83 = 113

94 + _ = 112 = + 86 = 112

96 + % = 119 < + 11 = 71
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Addition de Coeurs Doux (E) Réponses
Quelle est la valeur de chaque doux coeur?

14 + 86 = 100 55 + 30 = 85

43 + 61 = 104 46 + 48 = 94

46 + 63 = 109 96 + 17 = 113

43 + 37 = 80 91 + 44 = 135

56 + 43 = 99 61 + 74 = 135

13 + 88 = 101 46 + 19 = 65

44 + 72 = 116 55 + 82 = 137

23 + 87 = 110 30 + 83 = 113

94 + 18 = 112 26 + 86 = 112

96 + 23 = 119 60 + 11 = 71
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